0.10 < ¢® < 0.98 GeV?/c*

1.1 < ¢? <2.5GeV?/c?

2.5 < ¢ < 4.0GeV¥/ct

A 0.006 73:5%2 + 0.005 0.042 73597 + 0.005 —0.111 +3-957 & 0.006
Ay | —0.068 T9975 +0.009 0.235 T9-125 +0.005 —0.007 19132 £ 0.007
As 0.001 T5-958 +0.018 —0.114 73992 4 0.009 —0.005 £5:19% £ 0.008
Ags 0.122 70078 + 0.011 0.037 T 593 +0.016 0.022 0542 +0.010
A; 0.076 7308 +0.006 —0.087 10093 & 0.004 —0.032 79192 +0.005
Ag —0.031 5070 +0.007 —0.044 15-19% 4 0.005 —0.071 75121 £+ 0.006
Ag 0.030 73:582 + 0.004 —0.004 73-092 + 0.005 —0.228 70112 +0.007
4.0 < ¢*> < 6.0GeV¥/ct 6.0 < ¢? <8.0GeV¥c*  11.0 < ¢ < 12.5GeV?/c?
Az —0.173 15070 + 0.006 0.064 73087 +0.011 0.132 9575 + 0.005
Ay | —0.168 0055 4+ 0.008 —0.037 75973 4+ 0.011 —0.100 £§:0%2 £+ 0.009
As —0.059 T5-071 4+ 0.011 0.129 70567 +0.012 0.027 0077 £ 0.010
Ags | —0.023 15082 4 0.005 0.047 9562 + 0.011 0.024 15052 £0.013
Ay 0.041 75083 + 0.004 0.035 5-085 + 0.003 —0.008 0073 £ 0.005
Ag 0.004 70093 + 0.005 —0.043 15010 4+ 0.006 0.014 TJ67% + 0.005
Ag 0.062 9678 +0.004 0.110 T 585 +0.005 —0.057 15057 + 0.006
15.0 < ¢ < 17.0GeV?/c*  17.0 < ¢? < 19.0GeVY/ A
As —0.034 70956 4 0.007 —0.056 10073 £ 0.017
Ay —0.071 15059 4+ 0.008 —0.071 5072 + 0.011
As —0.076 70955 4 0.010 0.008 70572 +0.010
Ags | —0.085 15008 +0.012 —0.127 75080 4 0.018
A; | —0.10575:9%8 +0.005 0.047 10079 +0.013
Ag 0.048 73-9%3 + 0.003 0.022 70072 £ 0.005
Ag 0.091 T9:95% + 0.004 0.043 10052 +0.005




